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AT&T Bell Laboratories ' 600 Mountain Avenue
P.O. Box 636
Murray Hill, NJ 07974-0636
908-582-3000

July 24, 1991

Professor Stephen Snover
Mathematics Department
University of Hartford
W. Hartford, CT 06117

Dear Steve:
Thanks for your letter of June 20 and the nice sequence
oo kn
Z R
T2t

A2

(sequence A6288, by the way). Here is an explicit formula for it, which also shows it is
an integer:

n k .
z Z 2n+l—k (__l)j [n+1] (k_J)n
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This follows from what you did, using a formula for the Eulerian numbers. '(See Comtet,
Analyse Combinatoire, Vol. 2, p. 84, for example. This will be in the English edition too
but I don’t have a copy of that at hand.)

Using this I computed a few terms—see enclosed. Note that it begins
1,2,26,150
(you had 1,2,6,150,..., no doubt just a slip of the pen).

1 didn’t try to simplify this expression, but there may be a nicer form.

Best regards,

N. J. A. Sloane
Encl.
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